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@ AB = 4cm, BC = 9c¢m, CA = 5¢cm
© AB = 4cm, A = 75°, /B = 60°
® <A =50° /B =60°/C = 70°
® AB = 7em, CA = 4em, /B = 50°

® BC = 5cm, CA = 8cm, 2C = 30°
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@ AC =4em, /A =48°
O /A =30° /B =45°

® /B =60°/C =90°

® BC = 4cm, AC = 5cm
® BC = 3cm, /A = 30°

® BC = 4cm, AC = 9cm

@ 178 @2711 @ 371 @ 474 ® 57

@ /B o AVS T4 gong shitz 24T

A
® AB + BC < AC o] 47| 247 gt
w4 2 7t




6. ThC % AABC 7} ohta AAHL AL nE 12w? (2 7))

@@ = bcm, /B =30°, £C=50°
@ (A =30°, /B =280° «C=70°

® AB = 5cm, BC = 3cm, AC = 10cm
@ AB = 6cm, BC = 10cm, /A = 30°

(@)E = 7cm, BC = 4cm, AC = 6cm
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